Opérations avec deux fractions mixtes (I)

Nom: Date: Note:

Calculez chaque résultat.

LoSge2 = —t— = —X— = — = —
2 5%+2% = —+— = — = —

3 5%+1% = —+— = — = — =

4 5——1% = —F— = —X—-= — = —
50 52 =3 = — —— = — = —

o 1XSs = —x— = — = —
LSIH1E = —t— = — = — = —
8 5%)(1% = — X— = — = —

o Sxlg = —x— = — = — = —
10 5%—1% = ——-— = — = —

MathsLibres.com




Opérations avec deux fractions mixtes (I) Réponses

Nom: Date: Note:

Calculez chaque résultat.

Losk b M 7 4 3123 o1
3 8 3 8 7 56 56
2 S3+2 = G432 = 3 =73
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